HT A H A QM —E (B Al

ERREER - SH5F11H1H
R CHFH D <B> <& <EE>
J—K THX 4 HARA BEHE HARA SEA HARA SEAN 5 HARA SEA it
1 H T 672 24 5 547 16 563 558 17 575 1,105 33 1,138
10 R T 371 12 1 339 5 344 348 9 357 687 14 701
20 A [’ H 2,043 61 16 1,861 49 1,910 1,811 38 1,849 3,672 87 3,759
3% — F H 490 11 4 500 7 507 550 10 560 1,050 17 1,067
40 K F T # 18 0 0 20 0 20 16 0 16 36 0 36
45 ¥ M  H 614 27 7 645 19 664 659 20 679 1,304 39 1,343
48 I uw  HT 1,584 58 20 1,572 80 1,652 1,738 74 1,812 3,310 154 3,464
50 K i HT 1,516 46 6 1,456 43 1,499 1,417 28 1,445 2,873 71 2,944
60 K ¥ H 1,085 23 6 1,008 24 1,032 1,038 18 1,056 2,046 42 2,088
70 XK & H 770 23 3 679 16 695 652 17 669 1,331 33 1,364
80 T 530 17 10 579 15 594 620 20 640 1,199 35 1,234
1010 18 A BT 516 15 6 408 12 420 432 10 442 840 22 862
1020 £ ¥ 0O H 1,953 44 17 1,807 36 1,843 1,900 41 1,941 3,707 77 3,784
1030 E  H 1,076 53 6 884 37 921 947 30 977 1,831 67 1,898
1060 K = it B 50 0 0 53 0 53 53 0 53 106 0 106
1061 &t B = H 0 0 0 0 0 0 0 0 0 0 0 0
1065 dt 5 H 584 17 4 605 588 18 606 661 10 671 1,249 28 1,277
10711 FfMHBE1TH 99 6 0 105 81 6 87 97 0 97 178 6 184
1072 F=FfHBE2TH 649 19 6 674 698 21 719 657 15 672 1,355 36 1,391
1073 RMHBE3TH 1,013 35 6 1,054 1,011 34 1,045 988 23 1,011 1,999 57 2,056
1074 R HBE4TEH 125 2 2 129 154 2 156 137 4 141 291 6 297
1076 dt=EFE1TH 697 19 4 720 658 17 675 741 10 751 1,399 27 1,426
1077 dL=FFHE2TH 556 16 6 578 505 21 526 594 26 620 1,099 47 1,146
1078 JtFEFEITH 407 13 4 424 465 16 481 471 23 494 936 39 975
1080 Jt & K H 603 30 6 639 604 32 636 533 18 551 1,137 50 1,187
1091 & ¥ H 502 34 5 541 498 36 534 531 13 544 1,029 49 1,078
1095 £ ¥ ¥ H 120 12 1 133 121 10 131 101 3 104 222 13 235
1100 = f& H 847 13 4 864 645 6 651 677 13 690 1,322 19 1,341
1110 #* T 647 11 5 663 532 9 541 594 8 602 1,126 17 1,143
2000 3 HT 1,506 51 12 1,569 1,235 41 1,276 1,194 34 1,228 2,429 75 2,504
20060 £ A H Hr 948 16 9 973 911 18 929 959 26 985 1,870 44 1,914
2020 /v B HT 1,314 48 15 1,377 1,139 38 1,177 1,164 46 1,210 2,303 84 2,387
2030 ¥ & HT 1,630 70 26 1,726 1,320 58 1,378 1,360 57 1,417 2,680 115 2,795
2040 B F F HT 1,491 38 13 1,542 1,239 22 1,261 1,396 39 1,435 2,635 61 2,696
2050 T 5 H 687 24 4 715 674 13 687 664 17 681 1,338 30 1,368
2051 = 1T H 78 15 1 94 61 13 74 50 3 53 111 16 127
2052 = 2 T H 275 4 2 281 241 4 245 238 2 240 479 6 485
2068 M = 3 T H 274 6 6 286 313 10 323 299 8 307 612 18 630
2054 = 4 T H 65 0 0 65 46 0 46 51 0 51 97 0 97
2055 = 5T H 413 17 4 434 404 16 420 392 15 407 796 31 827
2056 @ = 6 T H 170 12 2 184 172 5 177 153 14 167 325 19 344
2060 i B  HT 742 16 6 764 695 18 713 658 5 663 1,353 23 1,376
2075 T B {K HT 631 28 2 661 696 38 734 734 30 764 1,430 68 1,498
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ERREER - SH5F11H1H
ARE CHFH D <B> <& <EE>
J—K THX 4 HARA SEAN BEHE H HARA SEA B HARA SEAN B HARA SEA it
2081 & 88 1 T H 237 15 0 252 198 17 215 210 3 213 408 20 428
2082 & B8 2 T H 265 4 1 270 306 6 312 303 5 308 609 11 620
2083 B 88 3 T H 522 17 7 546 509 19 528 535 17 552 1,044 36 1,080
2084 & 8 4 T H 625 34 9 668 635 40 675 640 20 660 1,275 60 1,335
2000 X & @ H 1,660 87 12 1,759 1,396 55 1,451 1,369 49 1,418 2,765 104 2,869
2106 & K H 169 3 2 174 177 4 181 191 3 194 368 7 375
2110 + H ¥E 1,241 111 14 1,366 1,177 133 1,310 1,270 105 1,375 2,447 238 2,685
2120 + &/ @ H 1,491 112 31 1,634 1,030 125 1,155 1,381 136 1,517 2,411 261 2,672
3000 H H T 971 5 5 981 961 6 967 983 6 989 1,944 12 1,956
3010 & 1 T 786 16 4 806 651 12 663 727 14 741 1,378 26 1,404
3020 ® #& MY 1,050 28 7 1,085 868 20 888 953 19 972 1,821 39 1,860
3030 B B @ Hr 184 12 5 201 155 15 170 154 7 161 309 22 331
4000 o T 544 13 3 560 509 17 526 489 14 503 998 31 1,029
4020 X F % 0O 23 0 0 23 13 0 13 24 0 24 37 0 37
4030 ¥ B H 1,912 59 13 1,984 1,542 53 1,595 1,653 40 1,693 3,195 93 3,288
5000 ;E T 749 8 2 759 651 9 660 698 9 707 1,349 18 1,367
5010 ®# R HT 503 32 11 546 421 27 448 501 19 520 922 46 968
5013 I % HT 440 20 4 464 498 22 520 482 19 501 980 41 1,021
5015 I H T 333 46 3 382 366 47 413 357 5 362 723 52 775
5022 U A2 B H 422 12 4 438 456 13 469 454 8 462 910 21 931
5025 it H BT 1,612 56 13 1,681 1,588 53 1,641 1,534 30 1,564 3,122 83 3,205
5040 & I T 501 19 6 526 439 11 450 452 20 472 891 31 922
5045 H T 592 19 6 617 658 13 671 608 17 625 1,266 30 1,296
5050 & T 1,782 41 10 1,833 1,494 33 1,527 1,463 38 1,501 2,957 71 3,028
6000 # FE  H 126 2 1 129 101 2 103 71 2 73 172 4 176
6005 % &  HT 29 2 4 35 30 3 33 22 6 28 52 9 61
6010 1 =&  H 1,259 29 7 1,295 1,081 22 1,103 1,200 16 1,216 2,281 38 2,319
6011 =Y EB1TH 668 6 7 681 714 6 720 747 10 757 1,461 16 1,477
6012 =V E2TH 690 17 3 710 634 21 655 656 5 661 1,290 26 1,316
6013 =Y BE3TH 420 11 0 431 425 8 433 408 5 413 833 13 846
6014 =V E4TH 473 7 4 484 508 9 517 522 10 532 1,030 19 1,049
6015 =Y BE5TH 887 73 5 965 834 49 883 742 47 789 1,576 96 1,672
6016 =Y E6TH 740 44 10 794 633 43 676 753 57 810 1,386 100 1,486
6020 K F* =%V B 2 0 0 2 2 0 2 0 0 0 2 0 2
6025 F FF O H 828 6 5 839 797 6 803 905 6 911 1,702 12 1,714
6030 = B HT 853 32 5 890 689 23 712 687 23 710 1,376 46 1,422
6040 =  ®I HT 447 14 2 463 436 13 449 432 5 437 868 18 886
6050 [A] 5 H 563 11 0 574 466 8 474 485 7 492 951 15 966
6060 JT BT 1,372 26 21 1,419 1,149 20 1,169 1,270 35 1,305 2,419 55 2,474
7000 #0 T 740 44 7 791 586 16 602 655 37 692 1,241 53 1,294
7010 # H T 813 31 6 850 731 14 745 863 27 890 1,594 41 1,635
8000 K =F #& i 4 0 0 4 5 0 5 4 0 4 9 0 9
8100 H T 1,118 103 7 1,228 1,015 92 1,107 1,077 91 1,168 2,092 183 2,275
&5t 61,007 2,213 528 63,748 55,598 1,986 57,584 57,763 1,786 59,549 113,361 3,772 117,133




